SOLIDWORKS  Configuring SOLIDWORKS

WORLD 2015 Toolbox
FEBRUARY 8-11

PHOENIX CONVENTION CENTER | PHOENIX, AZ By John Van Engen
Sr. Support Engineer
Computer Aided Technology Inc. - CATI

p? S DESHEET | The 3DEXPERIENCE’ Company



Let's start with:

What is the Toolbox?
* Fully integrated inside of SOLIDWORKS
Standard library of parts
Drag and drop insertion into SOLIDWORKS
Customizable data
Available with SOLIDWORKS Professional and Premium

P

2
25 SOLIDWORKS D



Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

& Design Library g
OO -dd@ck e

B? Toolbox -
&-E0 ANSI Inch

-0 ANSI Metric N
-l AS
w-EH BSI
w1 CISC
-2 DIN
r-Ell GB
R IS
-6 SO
-8 ]IS
E
E
E
B
B
£
£
E

&8

Where is the Toolbox?

Location -

BEREEER

Design Library tab

m

o-[8 KS

H- B MIL

0% PEM®& Inch
0% PEM® Metric
- 8ie SKF®

71 Torrington® Inch i
71 Torrington® Metric

767 Truarc®

i N ey Y

on the Task Pane

annotations  assemblies features forming
tools

o R
maotion parts routing smart
components

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company




Document_2014

; Maintenance
J Microsoft Mouse and Keyboard Center
| Microsoft Office

J, Microsoft Silverlight

; Microsoft SQL Server 2008

| Microsoft SQL Server 2012

| Microseft Visual Studic 2005
J SolidWerks 2013
J SolidWorks 2014
, SOLIDWORKS 2015
|8 eDrawings 2015 64 Edition

How do we change it?

Locations for the configurator:
Pull down Menu inside of SOLIDWORKS

Start Menu

SOLIDWORKS 2015 %54 Edition
4 SOLIDWORKS Electrical

Tools | Window Help QlD-Lﬂ*vat‘a'WJ'Q'l & E

. SOLIDWORKS Tools B

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

- n Analysis ,..' Draft Analysis _ &% Copy Settings Wizard 2015
SOLIDWORKS Applications L . _ . B Costing Template Editor 2015
ripes 2 Undercut Analysis
Xpress Products ) G My Products
rope a ulder
| - B8 Property Tab Builder 2015
Toolbox | @ Bearing Calculator... & SolidMetWork License Manager §| =
' § | Structural Steel i} SOLIDWORKS 2015 Routing Libre
H% SOLIDWORKS Metwork Menitor |
i | Grooves.. SOLIDWORKS Performance Test
Cams... SOLIDWORKS Rx 2015

B SOLIDWORKS Task Scheduler 200
g; SOLIDWORKS Treehouse 2015
& Toolbox Settings 2015 -

23 | Beam Calculator...

"Configure...

| Back

Customize Menu

| Search programs and files 0 |

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company



Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

® Design Library o
QO -l BT

u il Design Library 4
os common yl il routing
=7 Toolbox
=-E8 ANSI Inch

Locations to edit the Toolbox configuration: e -

-l Countersunk Head

Options Menu inside of SOLIDWORKS OR

m

il Machine Screws

System Options - Hole Wizard/Toolbox --dll Machine Screws (Countersur

Right Mouse Button e

[ search options

System Options| Document Properties)|

General

brawings Hole Wizard and Toolbox folder: .l Round Head Bolts

Display Style CASOLIDWORKS Data 2015\ E Hil Self Tapping Screws

- Area Hatch/Fill

i performance HilrSet Screws (Slotted) -

7] Make this folder the defaut search location for Toolbox components
Colors < i | b

-~ Relations/Snaps Toolbox is currently installed on this
Display/Selection - .

Performance computer. While that is acceptable for a
Assemblies single user environment, it is not the reco...
External References Leam Mom

Default Templates =

File Locations
FeatureManager

Spin Box Increments
View

Backup/Recover
Touch Heavy Hex Bolt  Heavy Hex Finished

Bolt
File Explorer

Search

Collaboration
Messages/Errors/Wamnings

Configure... .

g
Stru | Bolt |Insert Into Assembly...

v

Hex Finished Bo|
aK Jl Cancel ll Help |List,LargeIcons

|Create Part...
|

|Sma\|1con;

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company




Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

Toolbox Location

* Location where Toolbox is
» Default search location
UNLESS...

the Toolbox flag is
removed from the part
file.

2
2S SOLIDWORKS

-
Systermn Options - Hole Wizard/Toolbox

System Options | Document Propem’es‘

| Search Options

D

General
Drawings
Display Style
Area Hatch/Fill
- performance
Colors
Sketch
é---Re\at\ons,-’srwa[;)s
Display/Selection
Performance
Assemblies
External References
Default Templates
File Locations
FeatureManager
Spin Box Increments
Wiew
Backup/Recover
Touch
File Explorer
Search
Collaboration
Messages/Errors/Warnings

Hole Wizard and Toolbox folder:

Q\SOL{DWORKS Data 2015\,

=D

%ake this folder the default search location for Toolbox components

o oo ] [ oo

975 SDFISSFIULT

USTEMES

| The 3DEXPERIENCE® Company



A small bit of advice...

**As always please be sure to back-up your original
Toolbox folder prior to making any changes. To be
sure you have a good copy, make sure to take the
whole SolidWorks Data folder..

2
2S SOLIDWORKS



3DS.COM/SOLIDWORKS © Dassault Systémes | Confidential Information | 2/17/2015 | ref.: 3DS_Document_2014

Main Menu

* Hole Wizard

» Customize your hardware
 Define user settings

» Set permissions

Configure Smart Fasteners

2
DS SOLIDWORKS

F== Toolbox | ISR {FIFIEIPYE

=B X

‘Welcome to Toolbox Setup

Follow the steps below to configure Toolbox.

Select only the hardware and sizes you need, add custom data, and
set options.

1. Hole Wizard

2. Customize your hardware
Select sizes and options
Create custom properties
Add part numbers

3. Define user settings

4, Set permissions

5. Configure Smart Fasteners

p’SE’L?sst’?.ﬁ’é{ | The 3DEXPERIENCE® Company




Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

L'mj 4311 - Hole Wizard| 2|3 |4 5

—

u 4 |Hole Wizard Standards
[ES] ANSI Inch
[ES] ANSI Metric

[

BSI

]

[ Tetd

==}

[ © Jids]

[®]1s

KS

B ML

[ Helicoil® Inch
[t Helicoil® Metric
& PEM® Inch
& PEM® Metric
SR DOME

b HASCO Metric
& PCs

s Progressive

» Controls Standards

= = o= = = = = = =

= W =

S. Superior

=

=

ANSI Inch

ANSI Metric AS BSI DIN

2l @& (8] (9]

[#] Helicoil® Inch Helicoil® PEM®Inch  [¥] PEM® Metric
Metric

" Select Hole Wizard standards and refine items.

2
2S SOLIDWORKS

p’SE@SSFE”,.ﬁ’é} | The 3DEXPERIENCE® Company




[T Toolbox [',,—ﬂ ﬁll-HuleWizardl ===

u 4 Hole Wizard Standards
Hole Wizard ol —
o e Iza r I ﬁ'Coumerbure Holes ﬁ ' m ' m ' m ' m I

I WCounters'lnk Holes

i || straight Holes

* Controls hole type & g e Bt s B G
allows copying of a e
standard adding a new set

of custom sizes.

BSI

/™= DI

% )

ms

[ 0 Jite]

[®]15

KS

[E=

[t Helicoil® Inch
i) Helicoil® Metric
& peM® Inen
& pEM® Metric
2 DME

b HASCO Metric
o PCS

s Progressive

Document_2014

= = = = = = = =

= = w w W W = = =

S] Superior

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

" Select Hole Wizard standards and refine items.

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
10




AT o | ] 7311 - Hole Wizard | 2|3 |4 |5 7P = = %
u 4 Hole Wizard Standards &
4 [ ANSLInch Socket Head Cap Screw Smart Fastener
I ﬂf Counterbore Holes m browser\Ansi Inch\bolts and screws\so ad, \socket head cap screw_aisldprt
I+ T Countersink Holes :
° u 4[| straight Holes
or remove std. size [ Heicoi T Ors Standard Propertis [ raves sz Dometer
g E All Drill sizes Sizes #97 0.0059 -~
N = A o
3 [il Fractional Drill Sizes @ Screw Clearances #06 0.0063
£ e Add custom value | ites
g |]_| Pipe Tap Drills =5 0-0067
‘8‘ . % Screw Clearances #54  0.0071
Q Tap Drills . o
™ #33 00075
s Add New Size 28 [f] Mumber Drill Sizes —
o P val |1| Dowel Holes #52 0.0078
S roperty uE + [l Tapped Holes #91  0.0083
= A 7 —
S Size I+ 'Eh Taper Thread Holes 290 0.0087
s I =] ANSI Metric —
= ; #89  0.0081
2 Diameter "R As T
5 I EE e #35  0.0095
= enabled1 + ESDIN #8700
k5 - [
- L ms #36 00105
o [ © Jis] #35 0011
P I
8 r (@]
£ #34 0.0115
B I @k
2 ] ML #83 0012
é I i Helicoil® Inch 237 0.0125
< I Helicoil® Metric
[=]
F #31 0013
) i & PEM® Inch —
(2]
E B PEM® Metric #30 00135
g I &2 DME #78 00145
5 I HASCO Metric i
o] /64 0
3 "o 1/6 01563
=
8 I f& Progressive £78 0.016
> - A ]
g Il I Superior #77 0.018
OK | [ Cancel #76  0.02 |
| ) ? Select Hole Wizard standards and refine ite

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
11




QL | 401 - Hole Wizard | 234 |5 P = B %
[ 4 Hole Wizard Standards 5]
4 [ ANSIInch Socket Head Cap Screw Smart Fastener
I 'ﬂf Counterbore Holes m browser\Ansi Inch\bolts and screws\socket head screws\socket head cap screw_alsldprt
P ‘m’Countarsink Holes +
A m Straight Holes
® c rew e a ra n ces [} Helicoil Tap Drits Standard Properties & Sz  Closeft Normalfit LooseFit Diameter
ps [ An il sizes Sires #0 00635 007 0073 0.06 -
S [
o s D) screw Clearances £00 0052 0053 00535 0.047
o ~ [[] Letter Drill sizes —
5 - £000 0037 0041 0043 0.034
3 Add New Size 53 Vs —
D‘ m Screw Clearances #0000 0.024 0.026 0028 0.021
%] ) IS
3 Property Value [ T2 oriis 51 0076 0081 0080 0073
& [{] Mumber Drill Sizes —
2 a 5 -
= Size [l Dewel Holes £10 0196 0201 022 0.9
2 r E] Tapped Holes #12 0.221 0.22: 0.246 0.216
= 4 [ —
B Close Fit i EETED A = 0088 0096 01065  0.086
= I ] ANSI Metric E—
S " Eas £ 0104 041 012 0.099
2 Maormal Fit |
E I Bl B #4 0116 01285 0136 0412
= " Bom £5 04285 04136 0454 0425
E gt = WlZas 3 L hle.
£ Loose Fit [ o] —
3 s #5 0144 01485 04695  0.138
2 [—
3 enabledl I EIsO #3 01685 0177 01935 0164
" I [®]us |
é i - 1 10156 10312 10469 1 u
2 Diameter = —
& ] wiL 112 15156 15312 15469 15
E 1 i E 114 12656 12812 12969 125
§ r Helicoil® Metric —
. 562 7 2
g + B pEwie incn 1-4/8 11406 11562 14719 1125
2 i & PEM® Metric 1354 17656 17812 17969 175
= r —
S " §momE 13/8 13906 14082 14219 1375
z I fgh HASCO Metric i
=] -y 12 05156 05312 05463 05
o & [ —
§ I ng‘] Progressive 1/4 0.257 0.266 0.2812 0.25
5] - - | —
b L P YT eE 2 20156 20312 20468 2
o [ —
© P P - - - -
oK Cancel 2.2 25138 25312 2.5460 25 hd
ect Hole Wizard standards and
& A

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
12




* Toolbox LI[.|J ﬁl 1 |2 - Customize Hardwarel 3 |4 | 5 ¥ = [@ 22

Hardware == f

I+ EE ANSI Metric = Vi
s =2 5 @E@ #® o =-
Y b i B ANSIInch ANSI Metric A5 BSI asc DIN
i Il asc
= | M. DIN
S
S I & GB
=
£ =
: & = o]
s @mso 2 ! | | I
2 = [+ & # s [# 50 [#] ns [#] ks
I [® KS
I EE ML
I % PEM® Inch
I+ B PEM® Metric PEM PEM o 17 e
X 0 nl LT
g s Y 4 [ =) < !
3 Torringten® Inch
b M Torfington® Metric PEM® Inch PEM® Metric SKF® Torrington® Torrington® Truarc®
Inch Metric
I &7 Truarc®
I [] unistrut® -
Standard Properties Description | browser
General

Color J

[F] Allow custom configuration name

[[] Allow custom designation

Custom Properties ‘L?

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

ct individual itel 2} Create custom properties.. 3} Add Part Numbers...

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
13




| L Toolbox |_Im] ﬁ|1|2-Cuslomize Hardwarel3|4|5 % = [@ 22

Hardware e
= Qo = & = o

e Enable Components > (60 g Bustings Bearings Botts and g bustings ) Keys Nuts
4 Screws
< .
g » Qo
g I _ _ _ _ _
g I D Pi - g Q =
a3 L)
é [ f@tﬁ Power Transmission g = ég _L
| — L -
13 Retaining Rings
& g O-Rings Pins Power Retaining Structural
13 & Structural Members

e Transmission Rings Members
I (Q) washers
I [ES) ANSI Metric

= 9

Washers

I B MIL 1) Select individual items and configure their standard

b = PEM® Inch properties

I & PEM® Metric

I eh SKF@

b Torrington® Inch 2) Create custom properties and apply them to any selection
3 Terrington® Metric the tree

I &7 Truarc®

b [ unistrute Add Part Numbers and Descriptions that will be displayed

in the Bill of Materials

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
14




F== Toolbox [ 7l 1] 2 - Customize Hardware| 3lals P = @ 22

4 | Toolbox Standards ‘_‘-
4 [ ANSIInch
I Q Bearings
4 {ll Bofts and Screws
Se I e ct S pec ifi c ty pes b §llb Countersunk Head . Heavy Hex . Heavy Hex . Heavy Hex . Hex Bolt . Hex Finished
4 Bolt Finished Bolt Structural Bolt Bolt
Heavy Hex Bolt
Heavy Hex Finished Bolt
Heavy Hex Structural Bolt
Hex Bolt

Hex Finished Bolt
Bl Lag Screws

Document_2014

il Machine Screws

Hilli- Machine Screws (Counters
Bl Miniature Screws

Hlli Miscellaneous

Bl Round Head Boits

il Self Tapping Screws

Hlll Set Screws (Slotted)

il Set Screws (Socket)

il Set Screws (Square Head)
Bl Socket Head Screws

Hlll Sguare Head Bolts

v T T T T Y OVT OV OV W W W W

il Thumb Screws
il Wing Secrews 1) Select individual items and configure their standard
I [l Jig Bushings properties

[ = Keys

b (3] Nuts
D-Rings

I =D Pins

b

2) Create custom properties and apply them to any selection
in the tree

3 2,'@:: Power Transmission
I (54 Retaining Rings 3) Add Part Numbers and Descriptions that will be displayed
I % Structural Members in the Bill of Materials
I (Q) Washers
|- EE AMSI Metric
I Bl AS
3 BSI

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

s

4 == 1 (3

p’S SOLIDWORKS DS SRSTESEL | The 3DEXPERIENCE® Company
15




Toolbox Lll.—ﬂ ﬁ|1|2-Cuslomize Hardwarel3|4|5 ¥ = [@ 22
4 | Toolbox Standards £_- ’j, Hex Bolt
4 [E5 ANSIInch . : .
. 8094 possible configurations
I @ Bearings
4 {llli Bolts and Screws
° G I u f I Gl Countersunk Head Standard Properties Description | Hex Balt |
a
e n e ra I n 0 4 gl Hex Head S Filename | hex bolt aisidprt |
= Heavy Hex Bolt Size
S
§ Heavy Hex Finished Bolt Length Enabled
=
g A Hex Structural Boft Thread Data [ Allow custom configuration name
=
3 Hex Finished Bolt Thread Display hid
|
%) |+ gl Lag Screws v T
Q Custom Properties i
@ I gl Machine Screws LQ
@ [= gl Machine Screws (Counters!
Lo [ gl Miniature Screws
o
< [ gl Miscellanecus
B | Hlli Round Head Bolts
g |+ gl Self Tapping Screws
E |- gl Set Screws (Slotted)
s b Gl Set Screws (Sacket) | size  length Tnreadlength | Thread Displsy Configuration Name Part Number | Description Comment E
< a
= I gllli Set Screws (Square Head) 1 1/4-20 0.25 035 Simplified HBOLT 0.2500-20x0.25%0.25-M o
E I+ Hilli Socket Head Screws
<
2 I [l Square Head Bolts 2 1/3-20 025 0.25 Cosmetic HEOLT 0.2500-20x0.25%0.25-C
S
. B Rmb e 3 1320 025 035 Schematic HEOLT 0.2500-20x0.25x0.25-5
8 [ Hllll Wing Screws
5 b (0 Jig Bushings 4 1420 03125 03125 simpiified HBOLT 0.2500-20%0.3125x0.3125-N
1
>
& —
= > =les 5 1/4-20 03125 03125 Cosmetic HEOLT 0.2500-20x0.3125x0.3125-C
3 I [Q] Nuts
s ) L
g I IL_J) O-Rings 6 1/4-20 03125 03125 Schematic HEOLT 0.2500-20x0.3125x0.3125-5
© | =3 Pins
(2] evn . E 1/3-20 0375 0375 Simplified HEOLT 0.2500-20x0.375x0.375-MN
é I 4g; Power Transmission
g b t\'.‘J Retaining Rings 8 1/3-20 0375 0375 Cosmetic HEOLT 0.2500-20x0.375x0.375-C
E] I % Structural Members
8 I+ () Washers 9 1/4-20 0375 0375 Schematic HBOLT 0.2500-20x%0.375%0.375-5
= -
o b [ ARz 10 1/3-20 04375 04375 Simplified HBOLT 0.2500-20x0.4375x0.4375-M
3 I B As
g 11 1/3-20 04375 04375 Cosmetic HBOLT 0.2500-20x%0.4375x0.4375-C
| eate custom propertie: Add Part Numbe

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
16




Toolbox LI[.|J ﬁ|1|2-Cuslomize Hardwarel3|4|5 ¥ = [@ 22
4 | Toolbox Standards £_- j, Hex Bolt
4 [E5 ANSIInch . : .
. 8094 possible configurations
I @ Bearings
4 {llli Bolts and Screws - - - =
. - . [ — Standard Properties ¢ | Enabled  Size | Piten | Diameter Width AcrossFiats | Head Heignt  Head Fillet Rai
® Ize m o I I ca I o n 4 Jllli Hex Head General a /4 20 02500 0438 0188 0.03 -
g Heavy Hex Bolt Size /4 28 02500 0438 0188 0.03 |:|
S‘ Heavy Hex Finished Bolt Length <16 1 03135 2500 033 003
S Heavy Hex Structural Boft / L 3L 5 235 0
I Thread Data
3 i 56 24 03125 0500 0235 0.03
3 Hex Finished Bolt Thread Display =] — =
| 3/8 16 03750 0362 0268 0.03
Lag Screws .
8 I gl Lag : I - I'LQ
bt I+ glll Machine Serews 38 24 0.3750 0562 0.268 0.03
° [= gl Machine Screws (Counters! _
— - 76 14 04375 0625 0316 0.03
Lo [ gl Miniature Screws —
& | [l Miscelianeous 76 20 04375 0625 0316 0.03
~ [
E I glilr Round Head Bolts 172 13 0.5000 0750 0.364 0.03 =
é |+ gl Self Tapping Screws a7 ‘ S
g |- gl Set Screws (Slotted)
s b Gl Set Screws (Sacket) | size  length Tnreadlength | Thread Displsy Configuration Name Part Number | Description Comment =
= a
= I gllli Set Screws (Square Head) 1 1/4-20 0.25 035 Simplified HBOLT 0.2500-20x0.25%0.25-M o
5 I il Socket Head Screws
g b Gl Square Head Bolts 2 | /420 035 025 Cosmetic HBOLT 0.2500-20%0.25%0.25-C
s
= SN e 3 1420 025 025 Schematic HEOLT 0.2500-20%0.25x0.25-5
8 [ Gl Wing Screws
5 b ([l Jig Bushings 4 1/420 03125 03125 simplified HBOLT 0.2500-20%0.3125%0.3125-N
»
>
7 —
= 2 (SIS S | 1/4-20 03125 03135 Cosmetic HBOLT 0.2500-20%0.3125%0.3125-C
3 I [Q] Nuts
3 ) &
§ I+ () O-Rings 6 | 1/4-20 03125 03125 Schematic HBOLT 0.2500-20%0.3125%0.3125-5
© |- = Pins
» - . 7 | 1420 0375 0375 simplified HBOLT 0.2500-20%0.375%0.375-N
é I 4g; Power Transmission
g I (53 Retaining Rings 8 | 1/4-20 0375 0375 Cosmetic HBOLT 0.2500-20%0.375%0.375-C
% |- 9 Structural Members
8 b (Q) Washers g | 1/4-20 0375 0375 Schematic HBOLT 0.2500-20%0.375%0.375-5
= 5
S IS EnE 10 | 1/4-20 04375 04375 Simplified HBOLT 0.2500-20%0.4375%0.4375-N
2 I Bl As
Q 11 | 1/4-20 04375 04375 Cosmetic HBOLT 0.2500-20%0.4375%0.4375-C
| eate custom propertie: Add Part Numbe

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
17




Toolbox LI|..J ﬁl 1 | 2 - Customize Hardwarel 3 |4 | 5 ¥ = [@ 22
4 | Toolbox Standards £_- j Hex Bolt
4 [E5 ANSIInch . : .
. 8094 possible configurations
I @ Bearings
4 {llli Bolts and Screws -
i Enabled Size  Length Thread Ler
£ H | Hilll Countersunk Head damiail e w = gt
r-Y
® e n g m o I I ca Io n 4 filll Hex Head General all ] 14 025 0.25 -
g Heavy Hex Bolt Size 14 0.3125 0.3125
N Heavy Hex Finished Bolt
o Length
S Heavy Hex Structural Bolt 1/4 - 0375 0375
I Thread Data |
3 Hex Bolt i 1/4 | 04375 04375
s Hex Finished Bolt UITEED ESpEy hdl |
| 14 0.5 0.5
Lag Screws
@ I gl Lag I -
@ |- gl Machine Screws 1/4 05625  0.5625
@ [= gl Machine Screws (Counters!
= - 14 0625 0,625
Lo [ gl Miniature Screws —
§ [ gl Miscellanecus 4 075 075
B I [l Round Head Bolts 1/4 0875 0875
= |- Il Self Tapping Screws
2 14| 0875 | 05 >
g |- gl Set Screws (Slotted) . /! —
§ I+ [l Set Screws (Socket) Size Length  Thread Length  Thread Display = Configuration Name Part Number Description Comment =
< a
= I+ Hlllr Set Screws (Sguare Head) 1 1/4-20 0.25 0.25 Simplified HBOLT 0.2500-20x0.25%0.25-M o
5 I il Socket Head Screws
% I [l Square Head Bolts 2 1/3-20 025 0.25 Cosmetic HEOLT 0.2500-20x0.25%0.25-C
S
. B Rmb e 3 1320 025 035 Schematic HEOLT 0.2500-20x0.25x0.25-5
8 [ Hllll Wing Screws
5 b ([l Jig Bushings 4 | 1/420 03125 03125 Simplified HBOLT 0.2500-20%0.3125%0.3125-N
1
>
& —
= > =les 5 1/4-20 03125 03125 Cosmetic HEOLT 0.2500-20x0.3125x0.3125-C
3 I [Q] Nuts
s L
8 [+ IL_J O-Rings 6 1/4-20 03125 03125 Schematic HEOLT 0.2500-20x0.3125x0.3125-5
a .
© | =3 Pins
(2] evn . 7 1/3-20 0375 0375 Simplified HEOLT 0.2500-20x0.375x0.375-MN
é I 4g; Power Transmission
g I (54 Retaining Rings 8 | 1/4-20 0375 0375 Cosmetic HBOLT 0.2500-20x0.375%0.375-C
E] I % Structural Members
8 I+ () Washers 9 1/4-20 0375 0375 Schematic HBOLT 0.2500-20x%0.375%0.375-5
= . -
S IS EnE 10 | 1/4-20 04375 04375 Simplified HBOLT 0.2500-20%0.4375%0.4375-N
g I B As
g 11 1/3-20 04375 04375 Cosmetic HBOLT 0.2500-20x%0.4375x0.4375-C
| I eate custom propertie: Add Part Numbe

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
18




Hardware
* Thread Data

Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

2
2S SOLIDWORKS
19

a

) Toolbox Standards
4 [EF ANSI Inch
3 @ Bearings
4 {llli Bolts and Screws

=

n

Bl Hex Head

H:

Hllli Lag Screws

v v v T T T WOV W W W W W

=

I ([ Jig Bushings
— Keys
(2] Nuts
(_J O-Rings

i;-;ég‘j: Power Transmission
(54 Retaining Rings

3
3
3
[ o Pins
I
4

2
[+ 12) Washers
I EE ANSI Metric

Toolbox Lll.—ﬂ ﬁ|1|2-Cuslomize Hardware‘BldlS ¥ = [@ 22
5} Hex Bolt
8094 possible configurations
i sz Series  Thread Dismeter  Adva Thread Minor Dizmeter  Thread Mi
Bl Countersunk Head Sl e w | | = nes == nersiEm iner
General #0 UNF  0.06 00125 00451 0.0465 ‘D‘
Heavy Hex Bolt Size #00 MNSC  0.047 00111 00326 0.0355
Heavy Hex Finished Bolt Length
e ——— £00 NSF 0.047 00104 00334 0.0366
Thread Data |
5 #000 NSC 0034 00083 00232 0.0256
Hex Finished Bolt TR EEREY —
Color #0000 NSC  0.021 00063 00128 0.0142
Hilli Machine Screws 5 7 1 UNC 0073 00156  0.0544 0.0561
Bllli Machine Screws (Counters F s LQ
- #1 UNF 0073 00135 00565 0.058
Hllli- Miniature Screws —
i Miscelianeous #10 UNC 018 00417 01404 0.1449
il Round Head Bolts #10 UNF 019 00312 01528 01562 =
Hllli Self Tapping Screws 4 Y
[ ]
Bllli Set Screws (Slotted)
Bl Set Screws (Socket) | | size | Length | ThreadLength Thread Display = Configuration Name Part Number | Description Comment E
il Set Screws (Square Head) 1 1/4-20 025 025 Simplified HBOLT 0.2500-20x0.25%0.25-N S
Hllli Socket Head Screws
iy Square Head Boits 2 | 1420 025 025 Cosmetic HBOLT 0.2500-20%0.25%0.25-C
AR I 3 1420 025 025 Schematic HBOLT 0.2500-20%0.25x0.25-5
Bl Wing Screws
4 | 1420 03125 03125 simplified HBOLT 0.2500-20%0.3125%0.3125-N
5 1/4-20 03125 03125 Cosmetic HBOLT 0.2500-20%0.3125%0.3125-C
6 | 1/4-20 03125 03125 Schematic HBOLT 0.2500-20%0.3125%0.3125-5
7 | 1420 0375 0375 simplified HBOLT 0.2500-20%0.375%0.375-N
8  1/4-20 0375 0375 Cosmetic HBOLT 0.2500-20%0.375%0.375-C
Structural Members
9 | 1420 0375 0375 Schematic HBOLT 0.2500-20%0.375%0.375-5
10 | 1/4-20 04375 04375 simplified HBOLT 0.2500-20%0.4375%0.4375-N

[

11 1/4-20 04375 04375

Cosmetic

HBOLT 0.2500-20%0.4375x0.4375-C

eate custom propertie:

Add Part Numbes

p’SEﬁsst”,.ﬁ’é{ | The 3DEXPERIENCE® Company




Toolbox Lll.—ﬂ ﬁ|1|2-Cuslomize Hardware‘BldlS ¥ = [@ 22
4 | Teolbox Standards ’j, Hex Bolt
4 [EE ANSIInch 1 : .
. 8094 possible configurations
3 @ Bearings
4 {llli Bolts and Screws
- =
° H | gl Countersunk Head Standard Propertics -
rea Is p ay 4 i Hex Head General - /
= Heavy Hex Bolt Size
S
S‘ Heavy Hex Finished Bolt Length
S H: Hex Structural Boit
I Thread Data
=
3 Hex Finished Bolt NRRESHESSTE @usn‘eﬁc @d-emarc Simplified
»' |+ gl Lag Screws Color
a
© |- gl Machine Screws o
@ [= gl Machine Screws (Counters! F s LQ
Lo [ gl Miniature Screws
o
< [ gl Miscellanecus
B | Hlli Round Head Bolts
g |+ gl Self Tapping Screws
"é I+ il Set Screws (Slotted)
£ b Gl Set Screws (Sacket) | | size | Length | ThreadLength Thread Display = Configuration Name Part Number | Description Comment E
= a
= I gllli Set Screws (Square Head) 1 1/4-20 025 025 simplified HBOLT 0.2500-20x0.25%0.25-N o
E I+ Hilli Socket Head Screws
<
2 I [l Square Head Bolts 2 1/3-20 025 0.25 Cosmetic HEOLT 0.2500-20x0.25%0.25-C
S
. B Rmb e 3 1320 025 035 Schematic HBOLT 0.2500-20x0.25x0.25-5
8 [ Gl Wing Screws
5 b ([l Jig Bushings 4 | 1/420 03125 03125 Simplified HBOLT 0.2500-20%0.3125%0.3125-N
1
>
& —
= > =lEs 5 1/4-20 03125 03125 Cosmetic HEOLT 0.2500-20x0.3125x0.3125-C
3 I [Q] Nuts
s ) L
g [ IL_J) O-Rings B 1/4-20 03125 03125 Schematic HEOLT 0.2500-20x0.3125x0.3125-5
© [ = Pins
(2] evn . ol 1/3-20 0375 0375 Simplified HEOLT 0.2500-20x0.375x0.375-MN
é [ 3g; Power Transmission
g I (54 Retaining Rings 8 | 1/4.20 0375 0375 Cosmetic HBOLT 0.2500-20x0.375%0.375-C
% 3 Structural Members
8 b () Washers gl 1/3-20 0375 0375 Schematic HEOLT 0.2500-20x%0.375x0.375-5
= -
o b [ AR =i 10 1/4-20 04375 04375 Simplified HEOLT 0.2500-20x0.4375x0.4375-M
g -
g 1 1/4-20 04375 04375 Cosmetic HEOLT 0.2500-20x%0.4375x0.4375-C
| eate custom propertie: Add Part Numbe

p’SEﬁsst”,.ﬁ’é{ | The 3DEXPERIENCE® Company

2
2S SOLIDWORKS
20




Hardware

e Color

Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

2
2S SOLIDWORKS
21

N Toolbox LI[.|J ﬁ|1|2-Cuslomize Hardware‘BldlS ¥ = [@ 22
4 | Teolbox Standards - j Hex Bolt
4 [EE ANSIInch 1 : .
. 8094 possible configurations
3 @ Bearings
4 {llli Bolts and Screws
Standard Properties
[+ gl Countersunk Head | Default Color |
4 i Hex Head General
Heavy Hex Bolt Size .
Heavy Hex Finished Bolt Length | | HENEER
H Hex Structural Bolt
Thread Data EREEEEEN
Hex Finished Bolt T EEaay EiEEEEEN
|+ gl Lag Screws Color EEEEEEEN
|- gl Machine Screws : - . . . . . .
[= gl Machine Screws (Counters! G F s L?
[ gl Miniature Screws
[ gl Miscellanecus
| Hlli Round Head Bolts
|+ gl Self Tapping Screws
|- gl Set Screws (Slotted)
b Gl Set Screws (Sacket) | | size | Length | ThreadLength Thread Display = Configuration Name Part Number | Description Comment =
I gllli Set Screws (Square Head) 1 1/4-20 025 035 Simplified HBOLT 0.2500-20x0.25%0.25-N S
I+ Hilli Socket Head Screws
[l Square Head Bolts 2 1/4-20 025 025 Cosmetic HBOLT 0.2500-20x0.25%0.25-C
SN e 3 1320 025 035 Schematic HBOLT 0.2500-20%0.25x0.25-5
[ Hilll Wing Screws
b ([ Jig Bushings 4 | 1420 03125 03125 Simplified HBOLT 0.2500-20x0.3125%0.3125-M
b OlsR 5 1/4-20 03125 03125 Cosmetic HBOLT 0.2500-20x0.3125%0.3125-C
I [Q] Nuts L
I () O-Rings 6 | 1/4-20 03125 03125 Schematic HBOLT 0.2500-20x0.3125%0.3125-5
[ o Pins
o . 7 1/4-20 0375 0375 Simplified HBOLT 0.2500-20x0.375x0.375-M
[ 3g; Power Transmission
I (54 Retaining Rings &  1/420 0375 0375 Cosmetic HBOLT 0.2500-20x0.375x0.375-C
13 Structural Members
b (Q) Washers 9  1/4.20 0375 0375 Schematic HBOLT 0.2500-20%0.375%0.375-5
b ES) ANSI Metric 10 | 1/4-20 04375 04375 Simplified HBOLT 0.2500-20x0.4375%0.4375-N
b Bl as

11 1/4-20

04375

04375

Cosmetic

HBOLT 0.2500-20%0.4375x0.4375-C

eate custom propertie:

Add Part Numbes

p’SEﬁsst”,.ﬁ’é{ | The 3DEXPERIENCE® Company




Toolbox Lll.—ﬂ ﬁ|1|2-Cuslomize Hardware‘BldlS ¥ = [@ 22

H a rd Wa re e = 1% Tt e
4 E5 ANSIInch
32988 possible configurations

I &0 Bearings
4 i Bolts and Screws
° - [: Hlll Countersunk Head Sl e
rlve ype [+ pHll Hex Head General
= [» pHll Lag Screws Size
S
(:\ [» il Machine Screws Length
é [» Hll Machine Screws (Countersunk) Drive Type
=
[l Miniature Screws
& I Thread Length Hex Spline Hex Drilled(2) Hex Drilled(6)
| [ Hlll Miscellaneous .
%) Thread Display
Q [» Hlll Round Head Bolts
é [ Hlll Seif Tapping Screws Custom Properties
Iy [» gl Set Screws (Slotted)
é I: Hlill Set Screws {Socket)
E [» [Hll Set Screws (Square Head)
o~
— 4 Hlli Socket Head Screws
s - Hex Drilled(a)
= Socket Button Head Cap Screw
£ socketGounterunk Beaditopl | | | Sze  length DrwveType Threadlength | Thresd Display Diameter G ion Name Part Number  Descripti =
e Socket Head Cap Screw
= Socket Head Shoulder Screw 1 #0-80 0125  Hex 0.125 simplified 0.06 HX-SHCS 0.06-80x0.125%0.125-N -
5 | Hl Square Head Bolts
=2 2 #0-80 0.125 Hex 0125 Cosmetic 0.08 HX-SHCS 0.06-80x0.125%0.125-C
S | {ll Thumb Screws
= | Qi Wing Screws 3 #0-80 0.125 Hex 0125 Schematic 0.08 HX-SHCS 0.06-80x0.125x0.125-5
»
@ I |4l Jig Bushings
»g | K 4 #0-80 0.125 Spline 0125 Simplified 0.08 SP-SHCS 0.06-80x0.125x0.125-N
® 3 keys
>
2) (
= I [Q] huts 5 £0-80 0125  Spiine 0125 Cosmetic 006 SP-SHCS 0.06-80%0.125x0.125-C
© I I} O-Rings
a -
g |« Pins [ | (3 #0-80 0.125 Spline 0125 Schematic 0.08 SP-SHCS 0.06-80x0.125x0.125-5
© | Power Transmission
Q S r #0-80 0.188 Hex 0188 Simplified 0.08 HX-SHCS 0.06-80x0.188x0.188-N
I (54 ining Rings
= b
g | "g Structural Members 8 #0-80 0.188 Hex 0188 Cosmetic 0.08 HX-SHCS 0.06-80x0.188x0.188-C
% | (O) Washers
8 | [ ANSI Metric 9 #0-80 0.188 Hex 0188 Schematic 0.06 HX-SHCS 0.06-80x0.188x0.188-5
=
3 |l As 10 #0.80 0188  Spiine 0.188 Simplified 0.06 SP-SHCS 0.06-80x0.188%0.188-N
7}
g 1 #0-80 0.188 Spline 0188 Cosmetic 0.06 SP-SHCS 0.06-80x0.188x0.183-C -

eate custom propertie: Add Part Numbe

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
22




Hardware

» Custom properties

Document_2014

| 5 Hex Bolt
y 8094 possible configurations
Standard Properties
General o
Size
Length
Thread Data

Thread Display

Custom Properties \E_

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

2
25 SOLIDWORKS
23

Custom Property Definition

Property Name

Type
i@ Textbox

{2 List

Ok | | Cancel

Opticns
d as configuration specific property

ach walue for this property requires a new configuration name

Show in PropertyManager

Overall default value

P

9755’555535’,5-; | The 3DEXPERIENCE® Company



Hardware

* Adding the custom
property to the hardware

Document_2014

E Custom Property Definition s
§ Property Name Options
§ Material Add as configuration specific property
é Each value for this property requires a new configuration name
% Type Show in PropertyManager
] 2} Textbox
3 , Value Suffix
2 @ List .
Stainless Steel 55 b 4
g Link to SW material l
g Bl tin metEr Zinc Plated zq X
=
2 -
2 OK | Cancel
7 7 DASSAULT ®
2S SOLIDWORKS DS BESFESEL 1 The 3DEXPERIENCE’ Company

24


http://cati.typepad.com/.a/6a00e5510582dd8834019b023eb095970b-popup

Toolbox H ﬁ‘llZ-Customwze Hardware|3‘4|5 P = [ 22
4 [ ERED SETIELS - J Socket Head Cap Screw
4 E5 ANSIInch i X
b @ s 32988 possible configurations
4 il Bolts and Screws
i Enabled | Val Default
Py H [ gl Countersunk Head Sl e . — -
+ a
ustom properties b G e Heas -
g [» Hlil Lag Screws Size Zinc Plated
N [» gl Machine Screws Length
=
g [» HHilll Machine Screws (Counters Drive Type
g [ Bl Miniature Screws Thread Length -
»' [ il Miscellaneous
3 b [l Round Head Boits Custom Properties i
.§- [> il Seif Tapping Screws |:| Material ,f x
© I [l Set Screws (Slotted)
& I il Set Screws (Socket)
% [» gl Set Screws (Square Head)
g 4 {lll Socket Head Screws
B Socket Button Head Cap 51
£ Socket Countersunk Head . a . ; ;
S Size Length  Drive Type Thread Length = Thread Display = Diameter Configuration Name Part Mumber
= Socket Head Cap Screw
s cacket Head Shoulder Scre 1 £0-80 0425  Hex 0.125 Simplified 0.06 HX-SHCS 0.06-80%0.125%0.125-M
é | gl Square Head Bolts
= 2 #0-80 0.125 Hex 0125 Cosmetic 0.06 HX-5HCS 0,06-80x0.125x0.125-C
S | gl Thumb Screws
© -
o | [l Wing Screws 3 #0-80 0.125 Hex 0125 Schematic 0.06 HX-SHCS 0.06-80x0.125x0.125-5
E | |fll Jig Bushings
% | Keys 4 #0-80 0.125 Spline 0125 Simplified 0.06 SP-SHCS 0.06-80x0.125x0.125-M
>
2)
= I (G bhuts 5 #0-80 0.125 Spline 0125 Cosmetic 0.06 SP-5HCS 0.06-80x0.125x0.125-C
2 I I_J O-Rings
8 | =D Pins m [ #0-80 0.125 Spline 0125 Schematic 0.06 SP-SHCS 0.06-80x0.125x0.125-5
g (I ‘ower Transmission
~ 7 #0-80 0.188 Hex 0183 Simplified 0.06 HX-5HCS 0.06-80x0.188x0.188-N
Doﬁ | (ha Retaining Rings
S | By Structural Members H #0-30 0188  Hex 0188 Cosmetic 0.06 HX-SHCS 0.06-80%0.188x0.188-C
= | Q) Washers
8 | [ ANSI Metric 9 #0-80 0.188 Hex 0183 Schematic 0.06 HX-5HCS 0.06-80x0.188x0.188-5
=
8_ |l As 10 #0-80 0.188 Spline 0188 Simplified 0.06 SP-SHCS 0.06-80x0.188x0.188-M
a | [ Bst
@ | I asc 11 #0-80 0.188 Spline 0183 Cosmetic 0.06 SP-5HCS 0.06-80x0.188x0.185-C S
| M DN -
F [l — | 3 eate custom propel Add Part Numbes

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
25




Toolbox H ﬁl 1 | 2 - Customize Hardware|3 |41 ‘ 5 ? = [@ 2%
4 |} Toolbox Standards - j Socket Head Cap Screw
4 [EE ANSIInch N i X
N @ s 65976 possible configurations
4 [l Bolts and Screws
i Enabled Val Default
PY [» gl Countersunk Head S i = e =
) a
u s o m [» glill Hex Head General FET R 9
g [» gl Lag Screws Size Zinc Plated
1Y L} .
o ro e rt I es [: Hilll Machine Screws Length
=
g p p [» glli Machine Screws (Counters| Drive Type
g [ gl Miniature Screws Thread Length -
o [+ Hlill Miscellaneous
3 I il Round Head Bolts Custom Properties
B | Hlll Seif Tapping Screws Material
© I Hill Set Screws (Siotted)
& I+ Hi Set Screws {Socket)
=
S I Hllli Set Screws {Square Head)
g 4 [l Socket Head Screws
"é Socket Button Head Cap 51 hd
£ Socket Countersunk Head Size  length DriveType Thread Length  Thread Display  Diameter  Material Configuration Mame Part Mumber  Description =
= Socket Head Cap Screw -
£ Socket Head Shoulder Sere 1 #0-80 0125  Hex 0.125 Simplified 0.06 Stainless Steel  HX-SHCS 0.06-80x0.125%0.125-NSS =
bl | Hilli Square Head Bolts
‘€ 2 #0-80 0125 Hex 0.125 Simplified 0.06 Zinc Plated HX-5HCS 0.06-80x0.125x0.125-NZP
S 1 Hiilr Thumb Screws
8 | Ll Wing Serews 3 #0-80 0125  Hex 0.125 Cosmetic 0.06 Stainless Steel  HX-SHCS 0.06-80x0.125x%0.125-C5S
£ | [l Jig Bushings
'g | Keys 4 #0-80 0125 Hex 0.125 Cosmetic 0.06 Zinc Plated HX-5HCS 0.06-80x0.125x%0.125-CZP
2)
3 IR Nt 5 #0-80 0125  Hex 0.125 Schematic 0.06 Stainless Steel  HX-SHCS 0.06-80x0.125%0.125-555
§ | ) O-Rings
8 | D Pins m 6 #0-80 0125 Hex 0.125 Schematic 0.06 Zinc Plated HX-5HCS 0.06-80x0.125x%0.125-5ZP
] | Power Transmission X § .
= e R 7 #0-80 0125 Spline 0.125 Simplified 0.06 Stainless Steel  SP-SHCS 0.06-80x0.125x0.125-N55
o | 54 Retaining Rings
E | ‘I Structural Members 8 #0-80 0125 Spline 0.125 Simplified 0.06 Zinc Plated SP-5HCS 0.06-8010.125x0.123-NZP
6‘ | (D) Washers
7] #0- . 5 & i = 06 3 125
g | [ ANST Metric 9 0-80 0125 Spline 0.125 Cosmetic 0.06 Stainless Steel  SP-SHCS 0.06-80x0.125x0.123-C55
o
g 10 #0-80 0125 Spline 0.125 Cosmetic 0.06 Zinc Plated SP-5HCS 0.06-8010.125x0.125-CZP
=}
®
11 #0-80 0125 Spline 0.125 Schematic 0.06 Stainless Steel  SP-SHCS 0.06-80x0.125x0.125-555 >
-
3 I 2) Create custom properties..

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
26




A B & D E F G H

1 |Fastener Name Hex Bolt
a r Wa re 2 |FasteneriID  HBOLT AI_BS_PN
3
4 Size Length Thread Length Thread Display Configuration Name Part Number Description Comment
* Tables 5
z 6 [1/4-20 0.25 0.25 Simplified  HBOLT 0.2500-20%0.25x0.25-N
Té 7 [1/4-20 '0.25 '0.25 Cosmetic HBOLT 0.2500-20%0.25x0.25-C
g g [1/4-20 '0.25 '0.25 Schematic HBOLT 0.2500-20%0.25x0.25-5
@ 9 1/4-20 '0.3125 '0.3125 simplified HBOLT 0.2500-20%0.3125x0.3125-N
2 10 [1/4-20 '0.3125 '0.2125 Cosmetic HBOLT 0.2500-20%0.3125x0.3125-C
o '0.3125 '0.2125 Schematic HBOLT 0.2500-20%0.3125x0.3125-5
g _ '0.375 '0.375 simplified HBOLT 0.2500-20%0.375x0.375-N
= Part Number Description Cornm = 0.375 '0.375 Cosmetic HBOLT 0.2500-20x%0.375x0.375-C
E A '0.275 '0.375 Schematic HBOLT 0.2500-20%0.375%0.375-5
2 o '0.4375 '0.4375 simplified HBOLT 0.2500-20%0.4375x0.4375-N
£ '0.4375 '0.4375 Cosmetic HBOLT 0.2500-20%0.4375%0.4375-C
g '0.4375 '0.4375 Schematic HBOLT 0.2500-20%0.4375x0.4375-5
(&]
Z 0.5 0.5 simplified HBOLT 0.2500-20%0.5x0.5-N
5 0.5 0.5 Cosmetic HBOLT 0.2500-20x0.5x0.5-C
z 0.5 0.5 Schematic HBOLT 0.2500-20%0.5x0.5-5
2 '0.5625 '0.5625 simplified HBOLT 0.2500-20%0.5625x0.5625-N
(=]
o '0.5625 '0.5625 Cosmetic HBOLT 0.2500-20%0.5625x%0.5625-C
z 23 [1/4-20 '0.5625 '0.5625 Schematic HBOLT 0.2500-20%0.5625%0.5625-S
g 24 [1/4-20 '0.625 '0.625 simplified HBOLT 0.2500-20x0.625%0.625-N
g 25 [1/4-20 '0.625 '0.625 Cosmetic HBOLT 0.2500-20%0.625x0.625-C
8 26 [1/4-20 "0.625 '0.625 Schematic HBOLT 0.2500-20x0.625x0.625-5
(7]
g 27 [1/4-20 '0.75 "0.75 simplified HBOLT 0.2500-20%0.75x0.75-N
p
28 [1/4-20 '0.75 "0.75 Cosmetic HBOLT 0.2500-20%0.75x0.75-C
29 [1/4-20 '0.75 "0.75 Schematic HBOLT 0.2500-20%0.75x0.75-5
7S 7 DASSAULT ®
2. SOLIDWORKS DSSHSTEMES | The 3DEXPERIENCE® Company

27




H ﬁ|l|2-Custom|zeHardware|3‘4|5 % o [@ 22
4 T S AR - J Socket Head Cap Screw
4 ES ANSIInch 65976 it §
b &9 Bearings 5976 possible configurations
4 {lllr Bolts and Screws
° C d t I il Countersunk Head Standard Properties Description | Socket Head Cap Screw |
a
o py a a I+ il Hex Head Lol Filename | socket head cap screw_aisidprt |
= |- Gl Lag Screws Size
S
] I gilll Machine Screws Length Enabled
= .
2 [ Hlllr Machine Screws (Counters Drive Type ] Allow custom configuration name
= .
3 [ gl Miniature Screws Thread Length -
9 [- gl Miscellaneous
1%} " ¥
Q |+ Hil Round Head Bolts Custom Properties
é |- gl Self Tapping Screws Material ,/ x
o I- Hllll Set Screws (Slotted)
é [ Hil Set Screws (Socket)
E |- gl Set Screws (Square Head)
o 4 [l Socket Head Screws
=
2 Socket Button Head Cap S
T
E Socket Countersunk Head | | Size | length DrveType Threadlength Thread Display ~Diameter Material Configuration Name PatNumber | Desciption 5
€ Socket Head Cap
= Socket Head Shod Cut DE0 0125  Hex 0175 Simplified 0.06 Stainless Steel  HX-SHCS 0.06-80x0.125%0.125-NSS -
S | Bl Square Head Bolt: Copy
= 0-80 0.125 Hex 0.125 Simplified 0.06 Zinc Plated HX-SHCS 0.06-80x0.125x0.125-NZP
= | il Thumb Screws Delete
S
= | Hlllr Wing Screws 0-80 0.125 Hex 0125 Cosmetic 0.06 Stainless Steel HX-5HCS 0.06-80x0.125x0.125-C55
g | |l Jig Bushings
,E | Keys 4 #0-80 0125 Hex 0125 Cosmetic 0.06 Zinc Plated HX-SHCS 0.06-80x0.125x0.125-CZF
1
>
2 ICTIL D 5 #0-80 0.125 Hex 0.125 Schematic 0.06 Stainless Steel  HX-SHCS 0.06-80x0.125x0.125-555
§ | ) O-Rings
8 | Pins 6 #0-80 0.125 Hex 0125 Schematic 0.06 Zinc Plated HX-SHCS 0.06-80x0.125x0.125-5ZP
a
© | ¢ Power Transmission
17 . y 7 #0-80 0.125 Spline 0125 Simplified 0.06 Stainless Steel  5P-SHCS 0.06-80x0.125x0.123-N55
é | (54 Retaining Rings
g | | "‘\I Structural Members 8 #0-80 0125 Spline 0225 Simplified 0.06 Zinc Piated SP-SHCS 0.06-80x0.125x0.125-NZP
E] | (Q) Washers
#0- . i . i 2 i - .06 . 11251
8 | [ ANSI Metric 9 0-80 0.125 Spline 0.125 Cosmetic 0.06 Stainless Steel  SP-SHCS 0.06-80x0.125x0.125-CSS |
g | |l RS 10 #0-80 0.125 Spline 0125 Cosmetic 0.06 Zinc Plated SP-SHCS 0.06-80x0.125x0.125-CZP
(5]
7}
g 11 #0-80 0125 Spline 0125 Schematic 0.06 Stainless Steel  SP-SHCS 0.06-80x0.125x0.125-555 -
-
B i ate custom prop ) Add Part Numbes

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
28




User Settings

User settings

@ Create Configurations

A configuration is added to a master part file each time you use a new size of a

« Create Configurations

17) Create Parts

An individual part file is created each time you use a new size of a particular

* (Create Parts

(] Create Parts on Ctrl-Drag
An individual part file is created if you CTRL-drag the fastener from the

) Create Parts on Ctrl.drag Toolbox Browser. A configuration is added to the master part file if you use a

standard drag.

Document_2014

Create parts in this folder:

* Create Parts in this folder: ®

Writing to read-only documents
1@ Always change read-only status of document before writing

(Z) Error when writing to a read-only document

Part numbers

[C] Allow duplicate part numbers for gecmetrically equal components

Display options
Show as Component Name in FeatureManager IFiIename ']
Show as Part Number in Bill of Materials IConﬁguration HName ']
Show as Description in Bill of Materials IDSC"P'"’" v]

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

* Designation applies only to the AS, DIN, GB, ISQ, IS and KS standards.

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
29




Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

30

User settings
 Writing to Read-only files
 Always change

 Error when writing

 Allow duplicate part
numbers

« Show as Component Name
in Feature manager, Show
part no. in BOM, and Show
description in BOM

2
2S SOLIDWORKS

User Settings
Files

@ Create Configurations

A configuration is added to a master part file each time you use a new size of a
particular fastener.

17) Create Parts

An individual part file is created each time you use a new size of a particular
fastener.

(] Create Parts on Ctrl-Drag

An individual part file is created if you CTRL-drag the fastener from the
Toolbox Browser. A configuration is added to the master part file if you use a
standard drag.

Create parts in this folder:

(]

Writing to read-only documents
1@ Always change read-only status of document before writing

(Z) Error when writing to a read-only document

Part numbers

[C] Allow duplicate part numbers for gecmetrically equal components

Display options
Show as Component Name in FeatureManager IFiIename ']
Show as Part Number in Bill of Materials IConﬁguration HName ']
Show as Description in Bill of Materials IDSC"P'"’" v]

* Designation applies only to the AS, DIN, GB, ISQ, IS and KS standards.

p’SEﬁsst”,.ﬁ’é{ | The 3DEXPERIENCE® Company




Permissions

Permissions

Password
« Allow editing Content | Creste/Change | | J
® A"OW editing CUStom PrOpertieS Allow editing of Content

Allow editing of Custom Properties

Allow adding parts to Toolbox

Allow adding of parts to Toolbox

A"OW editing Of Part Numbers Allow editing of Part Numbers

Allow editing of Configuration Name/File Name

Allow editing of Config/File name

User Settings:
Set separately for each user
Allow user to change

Set the same for all users

Smart Fasteners:

Set separately for each user

3DS.COM/SOLIDWORKS © Dassault Systémes | Confidential Information | 2/17/2015 | ref.: 3DS_Document_2014

Allow user to change

5Set the same for all users

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company

31



Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

32

More user settings

 Set up actions for one or all users
regarding user settings and Smart
Fasteners

2
2S SOLIDWORKS

Permissions

Password

Create / Change ] I J

Allow editing of Content

Allow editing of Custom Properties
Allow adding of parts to Toolbox
Allow editing of Part Numbers

Allow editing of Configuration Name/File Name

User Settings:
Set separately for each user
Allow user to change

Set the same for all users

Smart Fasteners:
Set separately for each user
Allow user to change

5Set the same for all users

DZSE'@E?E%’,;—L} | The 3DEXPERIENCE® Company




Smart Fasteners P

Show washer sizes that match fastener criteria

() Exact match

» Washer specification O Grester than tokearce > [20 %

@ Unrestricted

Document_2014

 Automatic fastener change

» Default fastener to use with non-
hOIe Wizard hOIes Automatic fastener change

["] Change fastener length to ensure minimum thread engagement

2 Threads beyend a nut

15 | xdiameter into a tapped hole

Change stack components when fastener size is changed

Fastener to use with Non-Hale Wizard holes

Socket Head Cap Screw
CASOLIDWORKS Data 2015\browser\Ansi Inchibolts and screws\sacket head screws'\socket head cap screw_aisldprt

L]

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
33




Here’s a trick!
Removing the Toolbox flag — how and where?
How? By using SOLIDWORKS attribute tool called setdocprop.exe

_ This command removes the Toolbox file property from a Toolbox component to
allow the file to be saved off as a separate component that Toolbox will no
longer recognize as a Toolbox component.

Where? In your standard SOLIDWORKS installation location.
C:\Program Files\SOLIDWORKS Corp.\SOLIDWORKS\Toolbox\Data Utilities

2
2S SOLIDWORKS
34



setdocprop.exe

-
Set Document Property
E Set Document Property
S Property state: Yes (@) File Types: Part Files *.sldprt
a ity
® Property state: No  (7) (| Assembly Files *.sldasm
§ Filenames: |:| Drawing Files = slddrw
,é
E
g
x
o
g [ Add Files.., J [Add Directaries,.. ] [ Remowe l [ Remowe All l
2
8 ’ Show Selected Property ] [Update Status ] ’ Close
L% A

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
35




Manual Updating the Toolbox

 Bestidea EVER??7?

BACK UP Default location is:
YOUR

TOOLBOX  C:\SOLIDWORKS Data

FIRST!! ...or C:\SolidWorks Data(2)
(3) (4) etc.

2
2S SOLIDWORKS



Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

37

Organize =

0 Favorites

Bl Desktop

4 Downloads

=l Recent Places

. SUPPORT CALLS
. Rollout-5WwW

./ 19 - Routing

-l Libraries

@ Documents

2
2S SOLIDWORKS

Include in library -

Manual Updating the Toolbox
« Convert 2014 or earlier to 2015

Share with + Burn Mew folder 4= -
Mame . Date modified Type Size
. lang 11/12/2014 2:56 PM File folder
||E DatabaseConverter.exe 9/30/2014 1:54 PM Application 47 KB
CE sldsetdocprop.exe 9/30/2014 10:48 AM  Application 6,563 KB
%) sqglited.dll 9/29/2014 9:02 PM  Application extens... 673 KB
%) system.data.sqlite.dll 9/20/2014 9:02 PM Application extens... 932 KB
[ UpdateBrowserData.exe 9/30/2014 10:48 AM  Application 360 KB
UpdateBrowserDatabase.exe 9/30/2014 1:54 PM Application SE9 KB
|Z] zlib.dll 9/29/2014 2:02 PM  Application extens... 58 KB

&9\ )% <« SolidWorks Corp » SOLIDWORKS » SOLIDWORKS » Toolbox b data utilities » = Search data utilities 0

iﬁ?@fﬁgﬁ’é} | The 3DEXPERIENCE® Company




Inside the convertor
e Convert 2014 or earlier to 2015

r '
Database Convertor u

Document_2014

File Input

Source Database File: Works Data converting 20154angenglishswbrowse-mdb

Destination Database File: ks Data converting 2015Yang"englishewhrowser sldedb

100%

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company

38



Updating the database

» Update the 2014 or earlier to 2015

é‘ - =N g-‘
£

5 @Uv| . « SolidWorks Corp » SOLIDWORKS » SOLIDWORKS » Toolbox » data utilities » ~ | 4 || Search data utilities P
(=]

uf: Organize = Open Burn Mew folder =« [l @

% ' Favorites MName Date modified Type Size

g Bl Desktop . lang 112272014 2:56 PM File folder

% 4 Downloads [ DatabaseConverter.exe 9/30/2014 1:54 PM Application 47 KB

E = Recent Places CE sldsetdocprop.exe 9/30/2014 10:48 AM  Application 6,563 KB

g .. SUPPORT CALLS %) sqlite3.dll 9/29/2014 2:02 PM  Application extens... 673 KB

% . Rollout-5WWwW |%) systemn.data.sqlite.dll 9/29,/2014 9:02 PM Application extens... 932 KB

2 .. 19 - Routing CE| UpdateBrowserData.exe 9/30,/2014 10:48 AM  Application 360 KB

© i — . = B

o | \EA UpdateBrowserDatabase.exe 9/30/2014 1:54 PM  Application 580 KB

% =3 Libraries [Z| zlib.dlIl 9/29/2014 9:03 PM Application extens... SE KB

a [ .

=

3

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company
39




Inside the update tool
» Update the 2014 or earlier to 2015

Document_2014

i s
ﬁﬂ Update Toclbox Database ﬁ

Database To Update: olidWorks Data converting 2015\ lang'englishtswhbrowser.sldedhb |

Database Version: 17.00

Update Version: 18.14

Updating Database: solidworks‘toolboxdata utiIitiE5‘-.Iang"-.engIish‘-.updatedb.sldedtf

Show Advanced Options Update Cancel

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company

40



S_Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3D

41

Important steps

* The next tool may work best if the next few items are renamed.

@@-| ) » Computer » 0S(C) » SOLIDWORKS Data »

=4
Organize = Include in library - Share with = Burn Mew folder
L SWw 2015 2l Name .
. o . browser
N R
J. lang
] Documents =| . » Computer » 0OS(C) » SOLIDWORKS Data » browser »
. updates 74 i P
Music
J' = ToolboxStandards.xml ]
[ Pictures _ Organize | ] Open Burn Mew folder
i || TeclbexVersicn.dat | S
B Videos J) SWW 2015 “  Name
J AnsiInch
1 Libraries . . .
@ Documents § Ansi Mietnc
o | ToolboxFiles.index
usic
[&| Pictures ﬂ

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company




Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

Sldtoolboxupdater.exe

* Run this tool to update the components.

| .« 0O5(C:) » Program Files » SolidWorks Corp » SOLIDWORKS » SOLIDWORKS »

- Open Burn Mew folder

e Mame Date modified
iktop | sldstiu.dll 9/30/2014 1:39 PM
anloads ) sldsv3u.dll 9/30,/2014 1:39 PM
:ent Places %) sldsvu.dll 9/30/2014 1:39 PM
IPORT CALLS %) sldTagsPropscommonu.dll 9/30/2014 1:39 PM
lout-SWW % sldTagsPropsu.dil 9/30,/2014 1:39 PM
- Routing %, sldTemplateManagerl).dll 9/30,/2014 1:39 PM
%) sldternplateu.dll 9/30/2014 1:39 PM
ries % sldtessellationu.dll 9/30,/2014 1:39 PM
-uments %) sldthumbnailprovider.dll 9,/30,/2014 1:39 PM
sic &) sldtiffu.dll 9/30/2014 1:39 PM
tures g SldToolboxConfigure.exe 9/30,/2014 1:36 PM
cos %, sldtoolboxconfigureaddin.dll 9/30,2014 1:39 PM
% sldtoolboxdata.dll 9/30,/2014 1:39 PM
outer ||ﬂ sldtoolboxupdater.exe 9,/30/2014 1:36 PM

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company




Inside the Sldtoolboxupdater.exe

* Runs on current toolbox location

» Must have download or DVD with toolbox folder in it.

Document_2014

i ([ &= Toolbox Updates E@ﬂw
g Show completed updates
% SOUDWOREKS/Toolbox installation media location...| ChlUsers'\John\DocumentsiSolidWorks Downloads\SOLUDWOREKS 2015 x84 SPO\toolbox
g WVersicn Description =
; o 1700 Analyze
8
g v 1701 Update
2 \f 1702 Analysis
2 o 1703 Update
S
% o 1800 Analysis E|
§ 4 1801 Update -
.
1775 SOLIDWORKS pzsg?ssfgﬁ’éf | The 3DEXPERIENCE’ Company

43



Xs and Uh Ohs!

« Click the icons to read the warnings

-
&= Toolbox Updates

Document_2014

-

2 Show completed updates

;i SOUDWORKS/Toolbox installation media Iocation...] |
§ Version Description

"g v a Index Toolbox content
% 1500 Toolbox part analysis

% @ 1601 Convert Ansi Inch

g

% @ 1601 Convert Ansi Metric

8 v 1601 Convert AS

2

g = 1601 Convert AWWA Saddles
3

=

5]

g’ L%

2
2S SOLIDWORKS
44

&= Toolbox Updates

| Show completed updates

SOUDWORKS/Toolbox installation media location...

CHCICICINCIE

Version

1800

1801

1801

1801

1801

1801

Description -

Toolbox part analysis
Convert Ansi Inch
Convert Ansi Metric
Convert AWWA Saddles
Convert BSI

Convert CI5C

Process

DZSE@SSEE%E“} | The 3DEXPERIENCE® Company




EPDM

A brief note on EPDM and your toolbox...
| If you have entered your toolbox into your PDM system a few things must happen.
_ 1. All users should check in all assemblies before upgrading toolbox.
— 2. All users should close SW to prevent any file in use errors
: 3. Toolbox will need to be checked out in whole. (great time to make a copy)

4. You will need to force SW to point to the checked out toolbox to
manually update it. This is done with the tools options in SW or by
modifying the registry (get some VAR help with registry settings)

5. Check it back in when the update is finished.

P

2
2S SOLIDWORKS D
45



nt_2014

Questions?

3DS.COM/SOLIDWORKS © Dassault Systémes | Confidential Information | 2/17/2015 | ref.: 3DS_Docume

7777

3 BESSAYAT | The SDEXPERIENCE” Company

2
2S SOLIDWORKS

46



Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

a7

CATI and InFlow Presentation Schedule

Monday February, 9th

Achieving Extreme SOLIDWORKS Performance: Hardware/Configuration - 2:45-3:45pm - Room North-121A-C, Adrian Fanjoy and Josh Altergott
Configuring SOLIDWORKS Toolbox - 2:45-3:45pm - Room North-124A/B, John Van Engen
Successfully Prepare for Your EPDM File/Data Migration - 2:45-3:45pm - Room North-120D, Jeff Barker

Tuesday February, 10th

SOLIDWORKS Duct Tape & Bailing Wire: Creative Solutions to Everyday Problems- 1:30-2:30pm - Room North 128A/B, Josh Altergott and Adrian Fanjoy
Drawings: Setup of Templates and Sheet Formats- 1:30-2:30pm - Room North-221, Jim Krivoshein

EPDM Web: Implementing and Configuring - 1:30pm-2:30pm - Room TBD, Justin Webster

How to Build and Maintain Effective Design Tables - 2:45-3:45pm - Room North-226B, Josh Altergott

DriveWorksXpress Essentials Hands-On Lab - 4:30pm-6:00pm - Room North-227C, Ryan Dally

Wednesday February, 11th

SOLIDWORKS Composer: As Easy as Building with Legos - 1:30pm-2:30pm — Room North-225B, Brian Reel
Achieving Extreme SOLIDWORKS Performance: Modeling Methodology - 2:45-3:45pm - Room North-120D, Josh Altergott, and Adrian Fanjoy
Sharing Assemblies—Without Giving It All Away- 2:45-3:45pm - Room North-221, Jim Krivoshein

For a copy of all CATl and InFlow presentations please go to http://www.cati.com/sww2015

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company



http://www.cati.com/sww2015

Document_2014

3DS.COM/SOLIDWORKS © Dassault Systemes | Confidential Information | 2/17/2015 | ref.: 3DS

48

CATI and InFlow Presentation Schedule

Tuesday February, 10th
»  SOLIDWORKS Duct Tape & Bailing Wire: Creative Solutions to Everyday Problems- 1:30-2:30pm - Room North 128A/B, Josh Altergott and Adrian Fanjoy

*  Drawings: Setup of Templates and Sheet Formats- 1:30-2:30pm - Room North-221, Jim Krivoshein
»  EPDM Web: Implementing and Configuring - 1:30pm-2:30pm - Room TBD, Justin Webster
*  How to Build and Maintain Effective Design Tables - 2:45-3:45pm - Room North-226B, Josh Altergott

»  DriveWorksXpress Essentials Hands-On Lab — 4:30pm-6:00pm - Room North-227C, Ryan Dally

Wednesday February, 11th
»  SOLIDWORKS Composer: As Easy as Building with Legos - 1:30pm-2:30pm — Room North-225B, Brian Reel

*  Achieving Extreme SOLIDWORKS Performance: Modeling Methodology - 2:45-3:45pm - Room North-120D, Josh Altergott, and Adrian Fanjoy
»  Sharing Assemblies—Without Giving It All Away- 2:45-3:45pm - Room North-221, Jim Krivoshein
For a copy of all CATl and InFlow presentations please go to http://www.cati.com/sww2015

55 SOLIDWORKS 3 BESSAYAT | The SDEXPERIENCE” Company



http://www.cati.com/sww2015

L0Z 1usWNo0Q SAE 41 | GL0Z/L1/e | uonewoju)

uapyUOY | sawalshs nesse @ SYHOMAITOS/INOI'SAE

49



